
   
17 17 14021402 

   ( )

  

) 1( 20  20-1  3  30  

)1(  20  40-21  5  25  

) 1( 20  60-41  8  30  
) 1( 20  80-61  12  20

  

) 1( 10  90-81  16  15  
)   1( 20110-91  18  15  

)   1( 10120-111  21  15  
)  1( 10130-121  23  15  

  130165  

) 1 (   -  - - - - -  - -    
) 1(   - - - -   

) 1 (   - - - -  - - - -
  -  

) 1(   - - - - -  -   -    - 
 - 

) 1(   - - - - -   
)   1(   - - - -   

)   1(   - - 
)  1(   - - -   

 
 
 
 
 
 
 
 
 
 

       
) 1 (    - - -   
)1(     - -      
) 1 (     - - -  
) 1 (     -  -   
) 1(     - -     

)   1(     - -      
)   1(     -     
) 1(     - -     

        
            

            

   
  :  

   :                         :  
      

  

   

   

 :  130  :  165  



) 3 ( -171402      :3   

BA

C

12

10

α

α

  
11- 2= −2 3= −  .  =3−

    
1( 6   2( 7   3( 6 -  4( 7-

2-         
          )   

 (.  
( (− (′  

1(   2( 1  3( 2  4( 3
3-   800  600   . 520 240  

                    
1( 440  2( 280  3( 120  4( 160

4-  7 35 259 2051 12 10
1
63 −    

1( 202  2( 242  3( 292  4( 352
5-:     6 10 4+ = =     200   

1( 194 +  2( 204 +  3( 206 +  4( 196 +

6 -         32 4   96 .1 3
5

+

   

1( 1 2
4

+  2( 3
4  3( 1 2

7
+  4( 3

8
7-2−  2        2− 2 2−4   

          
1( 4  2( 3   3( 2   4( 1

8-          
1( 96  
2( 104  
3( 108  
4( 112

9-0 0180 270< α <      
3 33 3α − α − α − α − α − α   

1( 2 α  2(   3( 32− α   4( 32− α

10- 2 1− α          .α      

 3
α − α

  )0≠ (.      

1( 1 2  2( 6
7  3( 1 2−  4( 6

7−

) 1 (  30

 /    
 /   

 
1 2  3 

   
1 53



) 3 ( -171402      :4   

da -1

-1

0

0

1

1

cb

x

a

q t x zy

1

1-1

-1 0

0

111- 2 3= + +         

1( 5  2( 11
4  3( 9

4  4( 3
4

12-      4=
+

    

1( 11 4− ≤ ≤ −   2( 1 1
5 4− ≤ ≤   3( 1 1

3 5
− ≤ ≤ −   4( 1 1

3 5− ≤ ≤ 

13-4= −    α     .2
1 5=

α
    

          
1( 16  2( 4  3( 6 2 5+  4( 12 4 5+

14-    3+ =   3 3+    

1( 2 15
9  2( 2 5

3  3( 52 3  4( 4 15
9

15-1 1+ + = 
2

 2    

1(   2( 2
2
−  3( 1−  4( 2

16-       .                 
   13 5        

1( 8    2( 12  
3( 18    4( 20

17-  1 0− < < 2
2 4

1 1    

1( 4
1  2( 2

1  3( 2
4

1  4( 2
2
1

18-               .      
1( .        
2( .       
3(     .     
4( .     

19-2 0+ < 3 3 3 3− + + − −       

1( 32−  2( 32  3( 2−  4(   

20-3− 6− 81 3 1+ +    

1( 2  2( 3  3( 4  4( 3 6  
:           10          .     

          .       .



) 3( -171402      :5   

A B

CD

P

Q

B

A

C

6

10

221-         .   

1( 3  

2( 2/3  

3( 4  

4( 2/4  

22-     

1 (       .    2(    2 41+ +.     

3 ( .       4( .          

23-   4        5       .       

    

1 (1   2( 2  3 (5  4( 10  

24- 7 =13=  .       

1 (9  2( 14  3 (17  4( 18  

25-  3=1
6=  .    

1 (2    2( 3  

3 (1
2    4( 1

3  

26-6 7 8
+ + += =24+ = −  7 7+ +    

1 (240  2( 120  3( 160  4( 320  

) 1 (25

 /    
      

1  2   
  
9 37  



) 3( -171402      :6   

3

3

7

3

1

2

A

B
M

NQ

P
C

B

A
N

M

C

N

M

B
D

A

C

E

C

M N

x

y

B

A

24

227-   .   

1 (13
6    2( 13

7  

3 (61
6    4( 69

7  

28-   =3 5      

1( 6    

2( 5/7  

3( 8  

4( 9  

29-   5 =4=  .
Δ

   

1 (6    2( 8  

3 (5    4( 10  

30-  4=4= .   

1 (4    2( 7  

3 (3    4( 5  

  

  
31-        8      

1 (2  2( 3  3( 4  4 (5

32- 3
∧ ∧

=     .   6=10=

  

1 (8     

2 (6   

3 (4     

4 (5/3  

33-          . 

1 (>      

2 (<  

3 (>      

4 (<  

)(-        .     



) 3( -171402      :7   

34-− − − −
= = =

2 3 5 5 5
2 3 5 5+ + 

1 (5  2 (2 5  3 (5  4 (10  

35-  =2 3= 2     

1 (3
10    2 (3

5  

3 (3
7    4 (1  

36-       .+
+

  

1  (1 
2 ( 1  
3  (1  
4 (  

37-  = =5 3 60    
1 (12  
2 (5/12    
3 (5/13    
4 (15  

38-  = 2= 6= 12    .    
1 (3
2 (4  
3 (6      
4 (8  

39-  =4 3    .   
1 (4/8    
2 (9  
3 (10      
4 (2/11  

40-      .= 7= 3  
1 (12
2 (25/12  
3 (5/12  
4 (75/12  

 :        10       .     
               .     



) 3 (- 171402       :8   

   /
  

1  2
1 52

80

100

30

10

2 9 15

P(kPa)

h(km)

40

10

20
30

25

ما�ع ما�ع

ما�ع

ما�عما�ع ما�ع

cm

cm

cm
cm

cm

C D

B

BA A

  
441-        10        

 .                  .4 

      π = 3  

1 (10  2 (20  3( 30  4 (40  

42-    1     2  2    

1( 2 12>  2 (1 2=  3 (1 2 12< <   4 (2 12=  

43-        

•             .

•               .

•    .    

•.             

1 (1  2 (2  3 (3  4 (4  

44-            .       1200

1600        

1 (5
6  

2 (6
5  

3 (5
4  

4 (4
5  

45-    .             2     

      9 15   

1( 1
3  

2 (3  

3 (1  

4 (4  

) 1(30

azmonvip



) 3 (- 171402       :9   

ج�وه

cm16خلأ

cm90

446-     ρ      ρ       .  12

    35      .      

   7     36  .     

1( 2 52  2 (7 94  3 (3 32  4 (5 4  

47-             200       . 

    3             )

  31 2ρ =H¼À10=(

1( 164  2 (176  3 (224  4 (236  

48-        

    ( .    

    (      .      

  (       .     

1 (1  2 (2  3 (3  4 (  

49-      

  (        .       

   (        .  

 (             .  

    (             .  

1( 3  2 (4  3 (1  4 (2  

50-           053         10=

053 0 8=313600ρ =½¼Ã] 0 74=

1( 27 2  

2 (73 44  

3 (2 72  

4 (97 92  



) 3 (- 171402       :10  

m2

1

1
3

2

(1)

2

(2)

3
(3)

v

D
D

D

v
v

cm=60
cm=40

cm=20

cm=2

cm20

cm=8A A
12

2 2

}

551-             .        

     

1( 1 2 39 4= =  

2 (1 2 34 9= =  

3 (1 2 3= =  

4 (1 2 33 1 5= =  

52-                 

1       (  2       (  

3            (  4      (  

53-  2  5         2     36 8

     .          .       

       313 6ρ =½¼Ã] 0 75=10=

1( 6 8  

2 (5 1  

3 (1 7  

4 (         .  

54-           .     1ρ      

              4      .

 31ρ <1 31ρ =JA10=

1( 16    2 (160  

3 (32    4 (320  

55-    75 0791 10× μ 114 5 10× 98 6 10×

33 10×      .13 6 10×     

1(   2 (  3 (  4 (  



) 3 (- 171402       :11  

cm68

cm50

ج�وه

آب

گاز

0

cm15

P

}

556-     1         .   

1(  .  

2 (        .  

3 (       2 .  

4 (      3 2 .  

57-                     .   

      31ρ =JA313 6ρ =½¼Ã](.          

1( 36  

2 (14  

3 (28  

4 (16  

58-      .         78     

   313 6ρ =½¼Ã]10= 5
0 1 02 10= ×2    0 5 

(.

1( 3  

2 (3 5  

3 (4  

4 (4 5  

59-           .)    1    (  

) 2    (.

1(         

2(         

3 (        

4 (        

60-        4  18    .π = 3  
1 (25  2 (45  3 (50  4 (90  
  

:                       
  .                      .

    .      



)3(  -171402   12 :   

61-          

            

     (. )  

1 (            

2 (                 

3 (                

4 (            

62-    43  123   122   13

4   32  2 23  1 3  )1 3

(.  

1 (40  2 (42  3 (44  4 (46

63-      

•    .     

•     .       

•                   .  

•                 .  

1( 4  2 (3  3 (1  4 (

64-        

•      3 .        

•         .

•  .      

•      0
1−

1
1+.  

1 (  2 (1  3 (2  4 (3

65-   7/0  3
7

−        39
19  

139 14 −= =    

1 (1 02  2 (0 975  3 (0 92  4 (0 85

)1 (20

   
1     

 
1 38



)3(  -171402   13 :   

66-      
      (               

 .    
          (3  2      .       

  (       .       
                (.  

1 (2  2 (3  3 (4  4 (1
67-        

    (        .       
 (      .               

   (           .  
  (.              

1 (2  2 (3  3 (4  4 (1
68-     

     (        .        
    (         .     

 (         .          
   (          .  

1 (»« »«  2 (»« »«  3 (»« »«  4 (»« »«
69-     

    (   +.     

 (       .  
        ( .        

 (                  
  .  

1 (  2 (1  3 (2  4 (3
70-        

1 (    310−.    
2 (               .  

3 (      .    
4 (            .     



)3(  -171402   14 :   

71-    »«  »«»« »«            

 (4 6  .  

  (     20           

    (2  +     .  

  (                  

1 ( 2   4    2 ( 3/1   4  

3 ( 3/1   2   4 ( 2   2

72-         = 1       = 0= 2  

      )        (.       

1 (16 242 (14 24  3 (14 284 (16 28  

73-                       

1 (   11.     2 (    11.      

3 ( 6   .      4 (  54.

74-   1/7             25 

155 −=35 5=  

1 (3 14  2 (0 78  3 (1 57  4 (1 17

75-       24  

   (    5/1 .        

  (     2=2 .    

    (            .        

 (    3=4=.  

1 (  2 (1  3 (2  4 (3

ازمون وی ای پی



)3(  -171402   15 :   

76-  119 4+   23 .        
   

1 (14   2 (15   3 (14   4 (15 
77-       16          

           
-       .  
-      1=     0=.  
-          .       
-     6 .     
1 (1  2 (2  3 (3  4 (4

78-         
  4+ =               0= 

        

 (9
7 (1  (8

7 (9
8                (7

8  

1 (1  2 (2  3 (3  4 (4
79-     )      (

  65
29

48
22  52

24  70
31  

1       11  4  8  13  
2      7 4  4  8  
3     = 0= 2 0 74  1 4  0 6  

  

1(2  2 (2 1  3 (3 2 1  4 (3 2  
80-  (.    )  

1 (                 

[ ] 2 6 2 12 2 3 3.  
2 (             35      

[ ] 2 22 2.  
3 (                     

        0=1=  2 .  
4 (                     18

      0= 1=.    
  

:                          .
  .                    .    



171402) (   :16

  
  
  
  

81-     
/  : /   :  /  ::  /  :  /   :  

1 (    2 (
3 (    4 (  

82-      
1 ( :       
2 (         :
3 ( :         
4 (   :  

83-    
1 ( !  .  
2       (        /
3        ( .  
4       ( .  

84-           
 /       /     /     /    /  .  

1 (      
2 (    
3 (      
4 (       

85-          
1 (           )  (  
2 (      ( )      
3 (              ( )   
4 (       ( )          
  
  
  

) 1(15
  

  
(   )  

1 6  
1050  

:   1015       .        .
                    . 

    .         .     



171402) (   :17

86-           
1(                   
2      (         
3  (               
4        (         

87-          
   .    

.        
      

    .  
1 (        2 (      
3 (        4 (        

88-      ».       «    .

1  (           
2 (              
3 (                  
4 (                  

89-»            «     
1 (                 
2 (             
3 (                
4 (                 

90-             
1 (         : )  (  

2 (          /     : )  (

3 (            /:)      (  

4 (  /      :       )   (  

  
  

 :           10         . 
           .       .



171402) (   :18

  

91-    :       
1 (  !  

2 ( !  

3 (  !  

4 (   !    

92-  :    
1 (!        :     2 (      !  
3 (    !  4 (!           

  : )93- 96(:  

93-        :  
1     (          !  
2         (          !  
3       (          !  
4    (          !  

94-»           :«
1(                
2(               
3(              
4(               

95-»         !:«  
1(             !  
2 (           !  
3 (          !  
4(          !

96-»           «:  
1(               !    
2 (            !        
3 (        !        
4(           !      

)   1( 15
   

     
+  )

)  1((
1 3

1 35



171402) (   :19

97- »:«
1(         2(     
3(         4(       »«  

98-:     
1(  !    2( !     
3( !      4( !      

99-   :  
1(    !    2 (!     !    
3 (  !  4 (!     

100 - :      
1 (          :!!  
2 ( !: !  
3 ( :!!      
4 (  :!          !  

  
101 -:     

1(     2(   
3(     4(   

102 -:   
1(  :    2(   :  
3(   :    4(   :  

103 -:     
» :!  «  
» :!   «  
1(       2(     
3(       4(     

104 -:   
»    «!  
1(     2(   

3(     4(   

     



171402) (   :20

105 -  :    
1(     2(   

3(     4(   

106 -:    
1( !        2(    !  

3( !        4( !      

     )107-110(:  
          .              

         .      .          
.         

107 -:     
1( !       2( !        

3( !        4(       !  

108 -      
1( !        

2(   !          

3( !        

4( !          

109 -    
1( !      2(  !  

3( !         4( !     

110 -      
1(      2(    

3(     4(      

  

  
 :           10          .

             .         



171402) (   :21

  

111 -                
     

1 (   »    «  

2 (   »    «  

3 (   »   «  

4 (   »    «  

112 -              
  

1 (           .    
2 (        .  
3 (           .    
4 (       .  

113 -               »      «
    

1 (»    «     

2 (»    «    

3 (» «    

4 (» «     

114 -»        «       
1 (»                  «  
2 (»           «  
3 (»             «  
4 (»                «  

115 -                   
  

1 (                
2 (             
3 (          
4 (           

)   1(     
   

   
  

1 4  
1160  

15



171402) (   :22

116 -                     

     

1 (         » «  

2 (         »  «  

3 (      »  «  

4 (      » «  

117 -  :   »       «     

1 (        

2 (         

3 (         

4 (        

118 -              

1 (»       «  

2( »                «  

3 (»«  

4 (»  «  

119 -   5                   

1 (        2 (      

3 (     4 (    

120 -     »       «      

     

1 (  »   «  2 (  »  «  

3 (  »   «  4 (  »   «  

  

  

  :                  
  .                    .

       .    



171402) (   :23

  

 

 

 

)  1( 15

  

   
1 2  

1549

 :                      .
   .                    

.  


